Ordnen Sie den Pseudocode rechts den Operationen links zu!

RooOT()

COUNT(V)

ISANCESTOR(V, W)

ISLEAF(V)

LEAFLABEL(V)

SDEPTH(V)

PARENT(V)

FIRSTCHILD(V)

EDGELABEL(V,))

LCA(v,w)

NEXTSIBLING(V)

|if (ISLEAF(V)) return A[v, else return NULL;|

if (ISLEAF(V)) return;
return [v,, RMQH(v,+1, vi)-1];

Text

w < PARENT(V);

if (wr=v) return NULL;

if Wr=v,+1) return [w, wj;
return [vr+ 1, RMQ#u(V +2, wi)-1];

return [1,n];

if (ISANCESTOR(V,W)) return V;
if (ISANCESTOR(W,V)) return w;
if (v, >w)swap vand w;

k +— BRMQH(v,+1, wy);

return [PSVwu(k), NSVH(k)-1];

if (v, =v) return TRUE else return FALSE;

if (v=Ro0O0T()) return NULL;
if (Hvy > HvA1)) k< v, else k+ v+i;
return [PSVu(k), NSVH(k)-1];

return Vi- V,+ 1;

if (v, =swr=s V) return TRUE else return FALSE;

if (ISLEAF(V)) return n-A[v,]+1;
return HRMQu(v,+1, v))];

dy + SDEPTH(V);

w +— PARENT(V);

dw + SDEPTH(W);

if (i>dv-dw) return NULL;
return T[A[V/]+ dw+i-1];
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